MIAMI-DADE

MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION

DEPARTMENT OF PERMITTING, ENVIRONMENT, AND REGULATORY

AFFAIRS (PERA) ‘ 11805 SW 26 Street, Room 208

BOARD AND CODE ADMINISTRATION DIVISION Miami, Florida 33175-2474
T (786) 315-2590  F (786) 315-2599

NOTICE OF ACCEPTANCE (NOA) www.miamjidade.gov/buildin

Eastern Metal Supply, Inc.

4268 Westroads Drive

West Palm Beach, Florida 33407

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed and accepted by Miami-Dade County PER A-Product Control
Section to be used in Miami Dade County and other areas where allowed by the Authority Having Jurisdiction
(AHI).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. PERA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Section that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.050” Solid Bertha Aluminum Storm Panels Shutter

APPROVAL DOCUMENT: Drawing No. 11-117, titled “ 0.050” Bertha Aluminum Storm Panel”, sheets 1
through 15 of 15, and 1A of 15, prepared by Tilteco, Inc., last revision #1 dated November 15, 2011, signed and
sealed by Walter A. Tillit Jr., P.E. on November 23, 2011, bearing Miami-Dade County Product Control revision
stamp with the Notice of Acceptance number and expiration date by Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state, the
following statement: "Miami-Dade County Product Control Approved", and NOA number, per TAS-201, TAS-
202, and TAS-203, unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 08-0623.06 and consists of this page 1, evidence submitted pages E-1, E-2, E-3, & E-4
as well as approval document mentioned above.

The submitted documentation was reviewed by Helmy A. Makar, P.E., M.S.

MIAMI-DADE COUNTY / /4 /M\/ NOA No. 12-0209.06
' Expiration Date: 08/07/2013

Approval Date: 05/10/2012
05/10/?—0/1 Page 1



Eastern Metal Supply, Inc,

[u—y

3

NOTICE OF ACCEPTANCE;: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #96-1203.08
DRAWINGS

1.

Drawing Number 96-331, Eastern Metal Supply, Inc., 0.050" Bertha Storm Panel,
sheets 1 through 8 of 8, prepared by Tilteco, Inc., revision 2, dated 07/15/97 signed
and sealed by Walter A. Tillit Jr., P.E.

TESTS

L

Test report on Large Missile Impact Test, Cyclic Wind Pressure Test and Uniform
Static Air Pressure Test on 0.050" aluminum storm panels, prepared by
American Test Lab of South Florida, Test Report No. ATL #1022.01-96 dated
11/08/96, signed and sealed by William R. Mehner, P.E,

CALCULATIONS

1,

2.

Comparative Analysis and Anchor Analysis, dated 10/21/96, pages 1 through 135,
prepared by Tilteco, Inc., signed and sealed by Walter A. Tillit Jr., P.E.
Calculations for revised anchor schedule, dated 05/02/97, pages 1 through 33,
prepared by Tilteco, Inc., signed and sealed by Walter A. Tillit Jr., P.E,

MATERIAL CERTIFICATIONS

1

2

Mill Certified Inspection Report of coils, dated 01/23/96, for Aluminum Alloy 5052-H32
by Barmet Aluminum Corporation with chemical composition and physical properties.
Certified Tensile Test Report by Certified Testing Laboratories Report No. CTL
#8468 dated 10/31/96, for Aluminum Alloy, signed and sealed by Ramesh Patel, P.E,

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #98-0817.16

DRAWINGS

1. Drawing No. 98-172, titled "0.050" Bertha Storm Panel”, prepared by Tilteco, Inc.,
dated July 7, 1998, last revision #1 dated July 7, 1998, sheets 1 through 8 of 8, signed
and sealed by Walter A. Tillit Jr., P.E.

TESTS
1. None.

CALCULATIONS
1. Nore.

MATERIAL CERTIFICATIONS
1. Mill Certified Test Report issued by Nichols Aluminum dated 05/28/98, with chemical
composition and mechanical properties of the 3004-H34 Aluminum Alloy panel,

U A AL~

Helfny A. Makar, P.E., M.S.

PERA, Product Control Unit Supervisor
NOA No. 12-0209.06

Expiration Date: 08/07/2013

Approval Date: 05/10/2012



Eastern Metal Supply, Inc.
NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

3. EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #00-0602.04
A, DRAWINGS

1.  None.
B. TESTS
1. None.
C. CALCULATIONS
1. None.

D. MATERIAL CERTIFICATIONS
1. None,

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #01-0516.06

DRAWINGS

I Drawing No. 01-058, titled * 0.050” Solid Bertha Aluminum Storm Panel”, sheets 1 through
15 of 13, prepared by Tilteco, Inc., dated August 27, 2001, signed and sealed by Walter A.
Tillit Jr., P.E,

=

B. TESTS
1 Test reports on 1) Uniform Static Air Pressure Test, per SFBC PA 202-94
2) Large Missile Impact Test per SFBC, P4 201-94
3) Cyclic Wind Pressure Loading per SFBC, PA 203-94
along with marked-up drawings and installation diagram of 0.050” Solid
Aluminum Storm Panels Shutter, prepared by ATL of South Florida, Test Report
No. 0221.01-01, dated 05/02/01, signed and sealed by Henry Hattem, P.E.
2. Addendum to ATL of South Florida, Test Report No, 0221.01-01, dated 10/12/01,
signed and sealed by Henry Hattem, P.E.
3. Addendum to ATL of South Florida, Test Report No. 0221.01-01, dated 02/04/02,
signed and sealed by Henry Hattem, P.E.

C. CALCULATIONS
1. Anchor Analysis, dated 09/10/01, pages 1 through 53, prepared by Tilteco, Inc.,
signed and sealed by Walter A. Tiilit Jr., P.E.

D. MATERIAL CERTIFICATIONS
1. Mill Certified Inspection Report of coils, dated 04/24/01, for Aluminum Alloy 3004
~-H34 by NA Nichols Aluminum with chemical composition and physical properties.
2. Certified Tensile Test Report by QC Metallurgical, Inc., Report No. 1CM-384,
dated 03/26/01, signed and sealed by frank Grate, P.E,

Ve b Al

Hélhy A, Makar, P.E., M.S.

PERA, Product Control Unit Supervisor
NOA No. 12-0209.06

Expiration Date: 08/07/2013

Approval Date: 05/10/2012



Eastern Metal Supply, Inc.

5.
A‘

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # (03-0707.02
DRAWINGS
Drawing No. 03-141, titled * 0.050” Solid Bertha Aluminum Storm Panel”, sheets 1 through
15 of 13, prepared by Tilteco, Inc., dated July 02, 2003, last revision #1 dated July 02, 2003,
signed and sealed by Walter A. Tillit Jr., P.E.

TESTS
L None.

CALCULATIONS
1 None.

MATERIAL CERTIFICATIONS
1, None.

OTHERS

1. Letter from Tilteco, Inc., dated July 03, 2003, signed and sealed by Walter A. Tillit Jr.,
P.E., stating that the only change from the previous approved drawing # 01-058 are
the general notes #1 & #11 to reference the Florida Building Code and the ASCE 7-98

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # 05-0926.03

DRAWINGS

1. Drawing No. 05-073, titled * 0.030” Thick Galvanized Bertha Steel Storm Panel”, sheets
1 through 9 of 9, and 14 of 9, prepared by Tilteco, Inc., dated 04/25/2005, last revision
#1 dated 04/25/2005 signed and sealed by Walter A. Tillit Jr., P.E. on 09/15/2005

TESTS

1. Test report on Large Missile Impact Test and Cyclic Wind Pressure Test of Galvanized
Steel Storm Panels, prepared by American Test Lab of South Florida, Report No. ATLSF
0616.01-05, dated September 15, 2005, signed and sealed by William R. Mehner, P.E.

CALCULATIONS
1. Storm panel shutter Calculations, sheets 1 through 91 by Tilteco, Inc., signed and
sealed by Walter A. Tillit Jr., P.E. on 09/13/2005.

QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

MATERIAL CERTIFICATIONS
1. Tensile Test Report from QC Metallurgical, Inc., Job No. 51M-926, dated September
20, 2003, tested per ASTM E8-93, signed and sealed by Frank Grate, P.E.

e by AL e

#lmy A. Makar, P.E., M.S.

PERA, Product Control Unit Supervisor
NOA No, 12-0209.06

Expiration Date: 08/07/2013

Approval Date: 05/10/2012




Eastern Metal Supply. Inc,

7.

A.

B N

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # (8-0623.06
DRAWINGS
1. None.

TESTS
l.  None.

CALCULATIONS
1. None.

QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

MATERIAL CERTIFICATIONS
I, None.

NEW EVIDENCE SUBMITTED

DRAWINGS

1. Drawing No. 11-117, titled “ 0.050" Bertha Aluminum Storm Panel”, sheets 1 through 15
of 15, and 14 of 15, prepared by Tilteco, Inc., last revision #1 dated November 15, 201 1,
signed and sealed by Walter A. Tillit Jv., P.E. on November 23, 2011.

TESTS
1. Norne.

CALCULATIONS
1.  None.

QUALITY ASSURANCE
1. By Miami-Dade County Department of Permitting, Environment, and Regulatory
Affairs (PERA).

MATERIAL CERTIFICATIONS
1. None.

OTHERS
1. Letter from Tilteco, Inc., dated January 13, 2012, signed and sealed by Walter A. Tillit
Jr., P.E., stating that the drawing number 11-117 is in compliance with the 2010

Edition of the Florida Building Code.

Hefmy A, Makar, P.E., M.S.

PERA, Product Control Unit Supervisor
NOA No. 12-0209.06

Expiration Date: 08/07/2013

Approval Date: 05/10/2012




GENERAL _NOTES:

1. STORM PANEL SHOWN ON THIS PRODUCT A
2007 & 2010 EDINONS OF THE FLORIDA BUILDING CODE,

PPROVAL DOCUMENT (P.AD) HAS BEEN VERIFIED FOR COMPLIANCE IN ACCORDANCE WITH THE

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODES, USING
ASCE 7--08 STANDARD FOR INSTALLATIONS UNDER 2007 FBC & ASCE 7-10 FOR INSTALLATIONS UNDER 2010 FBC
AND SHALL NOT EXCEED THE MAXIMUM (AS.0.) DESIGN PRESSURE RATINGS INDICATED ON SHEETS & THRU 15,

IN ORDER TO VERIFY THE ABOVE (X NULMEWWMMWNMF&?M?-?OM FIRST
REDUCED TO AS.D. DESIGN WIND L B?WLFSLHNGW@IWQGWMWWMMW MX._?A.ES.DS

DESIGN PRESSURE RATINGS INDIOATED ON SHEETS

IN CORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.AD. AS TESTED WERE NOT OVER STRESSED, A 33% INCREASE
IN ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. FASTENERS SPACING TO WOOD HAS BEEN

DETERMINED IN ACCORDANCE WITH N.D.S. 2005

STORM FANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1626 OF THE

ABOVE MENTIONED "CODE AS PER AL REPORTS # 1022.01
TAS-203,

=01, # 0221.01- AND # 0816.02-05, AS PROTOCOLS TAS-201, TAS-202 AND

2. ALL ALUMINUM SHEET METAL PANELS SHALL HAVE 5082132 DR 3J004-H34 ALLOY,

I ALL ALUMINUM EXTRUSIONS SHALL 8E ALUMINUM ASSOCIATION 6083~T6 ALLOY & TEMPER UNLESS OTHERWISE NOTED,

4 ALL SCREWS TO BE STAINLESS STEEL 104 OR 318 AlS) SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN Soat8
Wy 80 ksi YIELD STRENGTH AND 80 ksi TENSIE STRENGTH AND SHALL COMPLY W/ FBC SECTION 247 1334

8. BOLTS TO BE ASTM A-307 GALVANIZED STEEL OR Ai%) J04 SERIES STAINLESS STEEL, WiTH 35 ksl MINMUM YIELD STRENGTH,
6. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)

{A) TO EXISTING POURED CONCRETE:

— 1/4" a4 TAPCON ANCHORS AS MANUFACTURED BY LTW, BUILDEX. (REGULAR OR 410 8.5}
- 1/4" @ CRETE-FLEX 554 ANCHORS AS MANUFACTURED BY ELCO CONSTRUCTION PRODUCTS.
= 1/4" @ OF IAP-GRIP - ANCHORS (BERTHA -STUD-CON), AS MANUFAETURED BY -TRU—FAST CORPORATION:
~ 174" 4 ZAMAC NAILIN ANCHORS AS MANUFACTURED. BY FOWER FASTENERS, ING:
— 14" 8 »x 7/8" CALK=IN ANCHORS OR ELCO mole & female "PANELMATE"™ AS MANUFACTURED
8Y POWER FASTENERS, _INC. AND ELCO CONSTRUCTION- RRODUCTS, RESPECTIVELY.
= 1/4" @ x 374" ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY.

NOTES:

A1) MINIMUM EMBEDMENT INTO POURED- CONCRETE OF TAPCON ANCHORS OR- CRETE-FLEX §54 15 1 3/4%
FOR ZAMAC NALIN ANGHORS 1S 1 378" FOR ELCO PANELMATE ANCHORS IS 1 T4

AND FOR CF TAP-GRIP ANCHORS IS 1 1/4"

AJ) 7/8" CALK—IN ANCHORS SHALL SE ENTIRELY EMBEDDED INTO THE POURED CONGRETE. NO EMBEDMENT INTQ STUCCO SHALL BE
PERMITTED, 1/4"0-20 SCREWS USED SHALL BE 1 172" LONG MINIMUM SHOULD STUCCO EXIST, AND 1" MINIMUM FOR WALLS WITH NO

STCCo,

AJ) MINIMUM EMBEDMENT OF 1/4' & 3/4" ALL POINTS SOLID-SET ANCHORS SHALL BE 7/8" INTO THE POURED CONGCRETE. NO

EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4" 0-20 5.5. MACHINE SCREW USED SHALL
STUCCO EXIST, AND 1" MINIMUM FOR WALLS WITH ND STueco,

BE 1 1/2" LONG MINIMUM SHOULD

A4) IN CASE THAT PRECAST STONE, PRECAST CONORETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR FLOOR; ANCHORS
SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS, ANCHORAGE SHALL BE AS INDICATED. ON NOTES A1) &

AZ) ABOVE,

(B) TO EXISTING: CONCRETE BLOGK WALL:
= 174" 8 TAPLON ANCHORS AS MANUFACTURED BY LT-W.

t

BUILDEX, (REGULAR OR 410 8.5.)

174" @ CRETE-FLEX 554 ANCHORS AS MANUFACTURED BY ELCO CONSTRUCTION PRODUCTS:

174, @ CF TAP=GRIP ANCHORS (BERTHA STUD-CON), AS MANUFACTURED BY TRU~FAST CORPORATION.

/4" & ZAMAC NAILIN ANCHORS AS MANUFACTURED BY POWER FASTENERS, INC. p
/4" 4 x 7/8" CALK—IN ANCHORS OR ELCO mois & fomale "PANELMATE" AS MANUEACTURED o A Tl
BY POWER FASTENERS, INC. AND ELCO CONSTRUCTION PRODUCTS, RESPECTIVELY. \2 Ly

= 1478 « 3/8" ALL POINTS SOLID~SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY. =

NOTES:

B.1) MINIMUM EMBEDMENT OF TAPCON, ELCO PANELMATE, CF TAP-GRIP AND CRETE-FLEX SS4 ANCHORS INTD CONCRETE BLOCK
UNIT SHALL BE 1 1/4% 1 3/8" FOR ZAMAC NAILIN ANCHORS.

B.2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO EMBEDMENT INTO STLOCO SHALL DE

PERMITIED, 1/4"2—-20 SCREWS USED SHALL BE 1t 1/2" LONG MINMUM SHOULD STUCCO EXIST, AND 1" MINIMUM FOR WALLS WITH NO
STuceo, .

B,3) MINIMUM EMBEDMENT OF 1/4% x 374" ALL POINTS SOLID-SET ANGCHORS SMALL BE 7/8" INTO THE CONCRETE BLOCK. NO

EMBEDMENT INTQ STUCGCO SHALL BE PERMITTED, 1/4" #-20 S.5. MACHINE SCREW USED SHALL BE 1 172" LONG MINIMUM SHOULD
STUCCO EXIST, AND 1" MINIMUM FOR WALLS WITH NO STUCCO.

B.4)"IN CASE THAT PRECAST STONE-OR PRECAST CONCRETE FPANELS BE FOUND ON THE EXISTING WALL, ANCHORS SHALL BE LONG
ENOUGH TO REACH THE MAIN- STRUCTURE REHIND SUCH PANELS, ANCHORAGE SHALL BE AS INDICATED ON NOTES IN B.1) AND B.2) ABOVE. -

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S MANUFACTURER,

7. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTIONS | THRU 16 (SHEET 3 & 7 OF
15) EXCEPT THAT HEADERS 2, 3 & 4 SMALL NOT BE JSED. -

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO BE
ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY SE ATTACHED T0 CONCRETE, BLOCK OR WODD FRAME BUILDINGS.

S THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT WiTH THE
BUILDING TO PREVENT WIND/RAIN INTRUSION, CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL LENGTH,

10, STORM PANEL INSTALLATION SHALL GOMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING REGULATIONS
FROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED 10

11. (o} THIS PRODUCT APPROVAL DOCUMENT (PA.D) PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE™ INFORMARON™ FOR
A SITE SPECIFIC PROJECT; i.a. WHERE THE SITE COMBITIONS DEVIATE- FROM THE PALD,

(b) CONIRAGTOR TQ BE RESPONSIBLE FOR THE SELECTION, PURCHASE- AND INSTALLATION INCLUDING LIFE SAFETY OF THIS
PRODUCT BASED ON THIS P.AD. PROVIDED HE/SHME DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON
THIS ‘DOCUMENT. CONSTRUCTION SAFETY-AT SITE IS THE CONTRADTOR'S RESPONSIBILITY.

{c) THIS_PRODUCT APPROVAL DOCUMENT- WILL BE CONSIDERED INVALID IF -MODIFIED.,

(@) SITE SPECIFIC PROJECTS SHALL BF PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL
BECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WiLL BE RESPONSIBLE FOR FTHE PROFER

USE OF THE P.AD. ENGINEER OF RECORD, ACTING AS A DELECATED ENGINEER 70 THE PAD. ENGINEER, SHALL SUBMIT To
THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW,

%t;) THIS PAD. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD
AT PREFARED 1T,

12, SHUTTER MANUFACTURER'S LABEL SHALL BE PLACED ON A READILY AND VISIBLE LOCATION AT PANEL.

ONE LABEL SHALL BE PLAGED FOR EVERY OPENING.

LABEL SHALL READ AS FOLLOWS:

EASTERN METAL SURPLY, INC.

"WEST PALM BEACH, FL. PRODUCT REVISED

MIAMI-DADE COUNTY PRODUGCT CONTROL APPROVED, as complying with the Florida
Building Code
Acceptance No |2~ 0204, 0 &

Expi °/3

Miamj Dadp$
,"’IIIIII”

,

ST

N e P o
S cENgE 2

'
Itl""

N 3 FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
§ § No. 44167 [ LG, /A8
ai P} 0.050" BERTHA ALUMINUM STORM PANEL | LS/A8
- e, - 5 by
- et R e N
g S N 11/15/11
X R
D 2 / TILTEC O we. \| EasTern eras sueeuy, we. | "4
-, T A 2 0
=8y @\Q’ o a6 e Ta 0 of¢ ENGINEERING COMPANY, WEST PALM BEACH, FL 33407 11117
) ONAL o Phen + (308Ja71e 1530 . Fax 1 (IOBIEF1- (235 DRAVING No
“c,,,,,””uﬂ" wa TERE';_‘;‘?S.%?LQ o E 45V, NO TESCRIPTION Z4TE | #hv. me SESCRIFTION BATE
Fomn Lee g he1g7" T e LALTAL M - ] SHEET 1 OF 15




3.000" Max, 2.476"
— 15.119" (TOTAL WIDTH) 9.119” (TOTAL WIDTH) | 2470 ! /3’/\_ " o 4 l o
. e .
|———12.oaa" (EFFECTIVE wmm)——.l | 6:000" (EFFECTIVE WD) —| J . ) 3:/ \ . L = = .'
oo, B 45 APPLOIBLE(R) | 55 1.500" 1.500" 1.500" & ] Modt ] . B ?
= 4473 i 4.473" : J' frim— £.473" LA + i : ; : o ! ] -} Y
¢ [y () H
L] | A .{\9+ * 2 3 J|__25. - R - .o75° T g ,§
Er ( _ i/ .l o s, B § @ - ) . Y - tH—7 | Tps _§ o
g : 2R T ¥ T . 3% —
: =R bl |- .025" - S % ~|-.07s" - o
T T . 0757~ N
» 2.2807 ’?f(
|—2.:25" I 3.875" !— 2, 125"“‘-! 2126 h 2.591* *
2.250'——] 2.250" %
UM_HALF PANEL 2o 2s01° ?
(I ALUMINUM_PANEL ALUMINUM HALF PAN - @
SCALE : 1/4% = 1" SCALE 1 1/4" = 1° JLEEAME_
@ “h” HEADER @ & U” S
SCALE ;1 3/8" = t* SCALE : 3/8" = 1"
s 8" - i 1/4" # 5. 5. STUD
{f)é oty A il Iﬁi%lﬂgs’qggéfw
& g h - b, 128" Max } | onseen
; ‘ NS
& }r%gl 500" hin, $ : E | 'gi ON SECTIO
; 2 =1 , 2
— " s e —— S
% Fﬂ:L? h . E E: T, § ALTERNATE T8
" @ ¥ . B LEG LOCATION -
200 a A ﬁ - 085 < l I ‘
— * f ol T —
I .03 | - A o= ! — L—z.ooo"——-—J
—1.850" ——
- nen g @ .SIUDDED ANGLE
| - » @ JE”_JRACK ANGLE L
® 3" ANGLE BUILD OUT BRACKET ZE” IRACK € L1/4" Max. b o, T T s 15 . 7
SCALE : 3/87 = 1" SCALE + 3/8* = 1* ”E_ ” TRACK )
SCALE ; 3/8% = 17— /16" § r—-oss
. ALUMNUB—~——  (3) 5/8"% HOLES ¥
— PLATE 7\ ()AT/TO.'TLINE ] RS :1 094,
- — 750" 1/4 # 5 8 Shvp 1
1470 s s s e |- |..125 aoom:;'{vgtg I :
RNVETED 1O -ANGLE : - 9 ~ : e _ D
8 12°0. G . ~ U -~
ALTERNATE I
LEG LOCATION N
[ . § (2) 5/16” HOLES "*\ .
oo } AT BOTTOM LINE ~ Ng
DerAL 1 ? I ? FOR 1/4"820x1" o |F
P S il S.5." MACHINE l
———————————— T | SCREW TAPCONS ]
5,000" +—— — - - - - . ~| 050" OR g6~
» » fhax) _ i S .-.093"
ANGLE WITH STUD el . . ol DETA[L 1: swp wy DiE casT ziNG
N il MICKEL PLATED WING NUT
SCALEr 1/2" = 1" 14*
PRODUCT REVISED
3/167x7"x14"” LONG WALL PLATE 85 complying with the Florida
Building Code 12
. SCALE: 3/167 = 1" Acceptance No .
/—a.s-u I..% Exp: oo éz
| 7
ar — By
iz 1 MiamiDa
[ .
a.628" ’3_'
= g57 - mmaemmm
t = in, 088" " A 7’/[ ‘eﬂ% ‘ '
(OPTION TO 12) KEY HOLE W, C. E &, FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
3105154 Alum. ALQR \,\ /Vé ((\ 4){) 23 LG/AG.
SOALE : 38" = 13 S 1 0.050" BERTHA ALUMINUM STORM PANEL DRAWN 8Y:
2 ‘Eﬁ" ND' 44167 Oz 11/15/11
%W@ / liLTEc O \ EASTERN METAL SUPPLY, INC. e
EReani A 3 " 4268 WESTROADS DR,
L e . . e NG _COMPAN _
%, Ay AR éf & | e e e s WEST PALM BEACH, FL 33407 11-117
O 2, ‘o / ot Q & Phone : (3058711830 . fox : (305)871-1831 DRAWING No
C O .9;,, (5‘ ol “Q\ o WaLTE REi_ai'?Lif?Z {ﬁ o E REV. WO DESCRIPTION DATE | REV. o OESCAIPTION DATE
Yitgy, WAL WO FLORIOA Lice ¢ 44167" L] o evo8 Figte/rd 3 - =} SHEET 1A OF 15
“Mduunnl\“\ . F4




AN

— TOP TRACK

(SEE -COMPONENTS, SHEET 1A OF 15)

-3 ; CONCRETE ANCHORS (SEE SCHEDULE) ' 3"~
T Min. F .?Jr‘h.
[+] o] s) 0 ) <
rT“ﬂ—ﬂ"“-T_T"ﬁ“ﬂ—_‘T—T-ﬂ“ﬂ———r—F‘ﬂ"ﬂ*“"r‘T‘T'ﬂ“”W‘F_T*ﬂ___FHT—T—T—'"F_F_T_T‘—_F‘r‘T‘T“‘ﬁ"r“T’T“"F‘F_T1
[ [ i | | [ ] | | | i | 1 | | | 1
D
A '\/ Av l'(ls
A A
A d y o
5
Ry
wn
~ i §
U u
TYP, 8
Ly
S
4
Ly
Le]
9
5
&
A % A N
- 4 ._.._.._l
{ \ Y S
, <+
I
B |
@ & & @ @
3" - CONCRETE ANCHORS (SFE SCHEDULE) = 3"
Max. Max.
1 Min. 1 Min.

l—— 1/4” Max. GAP

STORM PANEL TYPICAL ELEVATION

SCALE : 1/8" = 1"

™~ TN TN TN TN TN TN

-~ BOTTOM TRACK.

(SEE COMPONENTS, SHEET 1A OF 15)

SECTION A-A

SCALE : 1,/8" = 1"

PRODUCT REVISED

as complying with the Florida
Building Code

Acceptance No )20 229, o pA
Expirati :

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

FLORIDA Lic. § 44167

4 - _

0.050" BERTHA ALUMINUM STORM PANEL | moxo
11/15/11
IILIE COinc. EASTERN METAL SUPPLY, INC. DATE
JILIT TESTING & ENGINEERING COMPANY wesT vt s e O, o7 17—1717
Phond (Jasjan-ma .Fux e indicy o e e DRAWING No
WALTER & TILLT o, P, E. 75 7227 ~ T oter 2 or 78

42
T‘P"l'l."



\ i Cont. \
CONCRETE® ANCHORS CONCRETE ANCHORS N _ CONCRETE ANCHORS ?‘Sogc_c:f;.gﬁggfgms N)
(SEE SCHEDULE) < , ‘ (SEE SCHEDULE)X \ L‘ :.olao" | {SEE SCHEDULE) ___\\ [ . \ §0 .
i _|'§ s - ._..\‘%I!_I:I I '  —— :! t l‘g) Cont. . ],: :\ 3 :] | % Cont.
% : oy X o %
. \—— SR \| N\ ——_L N Ly LR
POLIRED S | | POURED :: | l l POURED 2 : I ! POURED S § | !
e . STt NI Rednes N . s | .
SN\ RN I SR . | s 0
BN | ] b | ] | I
' | | » | ste screpuLe For I_ l | 3 ‘ JE:
—(D) B . SEPARATION S SEE SCHEDULE FOR | | |——( ) a SEE SCHEDULE FOR . Ry
| | S | ] g Min, SEPARATION ———1 o Min. SEPARATION = |
q § 1O 6LASs | | | % TO GLASS | l ] §
A || 8 A —— 4 | A 1 “ | 1 | | 8
| v 1 § l “V | [T E | v | 4 ’ '%J l : Av’r | A\l . I ﬁ
1y o L:E 2
g2 L B S I : RN S
T0 GLASS | | l = BOLTS W/ 7/8" x | | l = ty g
8 3432 Wing wur "o 3 ‘ < | | | o
o g ol ¢ TR e
| S g | - : GRS B +% < N B Ol
= o 3]
TITT7 p /D,i// 77, > o g || 3
- ‘ —0 S, S
POURE, ? | | ,_® = POURED— | e o—/ ? | ) : vz D/_// 7 Z @ — ]
OR CONRETES ? | | | | or. concrereS | CONCRETE & 1 S Colee : 7_/ cont
ZALOCK WALL. % e BLOCK WALL ‘i | or concrere ® s T 1 : | |
REQUIRED /,| | REQUIRED Ahikm | | BLOCK WALL iy |t [ BLOCK WALL W i | 126" | -
7 | r'-‘ - REQUIRED. / '_ | |-._() -REQUIRED s : 1 | IO S
—_:/i:ﬁ_ ] | I /—/ = 5625"| ! ’7_:[::?% | -k l | — —23 _ng § =1” M:hli;_ |
. » . - . - (1 5] 3
CONCRETE ANCHORS/; ___I_I_fj__l_| ! ngECRETE ANCHORS: ' CONCRETE ANCHORS” ?‘ 4000!7!_ -} CONCRETE ANCHORS yd ? =[ . 1 1/4" 5—-20 M. S. “
(SEE SCHEDULE) ? (SEE SCHEDULE) {8).Cont. (SEE SCHEDULE) B l t (SEE SCHEDULE) ? X 0} Cont. W/ NUT @ 12° 0, C.-
‘-—(:Jf.‘ont. | | H
SECTION @ ANCHOR WALL MOUNTING INSTALLATION g
A .
I \ I | ] S_ECI.I_O_N_;S SCALE : 3/8" = 1" SEC TIQN 4 SCALE : 3/8" = 1"
A
|
P
o :
TR | . ﬁ
> O PRODUCT REVISED
v Al 5 € 0 - oo poce o o il e Foids
] oS . LHAL,
S é%ggg%i?gg l | Jjﬁc x 332" § SHEETS 10 & 11 OF 15) | Accel;taimnl\fo %o é
BLock W LL 7 _| g&_g“ SOTUQ g _ Expirgtion Date © o3
, N By }24_4% VIR
; I | | : . i, ’ Miami DaddPfoduct Conirol
. 3 N _A Ty b, ‘
77 | i I | SRR T,
] NOTE FOR COMBINATION OF SECTIONS : §\'§ng Ehg é\% ‘%% FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
7 \—®Gonf. WALL MOUNTING SECTIONS CAN BE g R 1 - — Y
SECTION @ STUb COMBINED N ANY WAY TO SUT ANY INSTALLATION. | & N ; No. 44167 - z 0.050" BERTHA ALUMINUM STORM PANEL DRAWN BY:
WALL MOUNTING INSTALLATION R * &
£ MO 2IALLATION L SO e ILIECO e EASTERN METAL SUPPLY, INC. | "o’
SECTION 1 ' ‘%%’@W. S F | TES & SN S, WesT AL Beach, FL 53407 11-117
O o Wt o™ o " o B - e e oeamo b
1ON ~ SECTION 2 (T0P) %044, y W WALTER A. TILLIT Jr. P._E. e LT e = e
T FLORIDA Lic. § 44167 L 0D 05 AL 0 2 = sheer 5 oF 15




Max. FANEL LENGTH (SEE SCHEDULE, SHEET 9)

BUILD QUT INSTALLATION
— SECTION 5 scue: 3" = 17

E D. = EDGE DISTANCE
(SEE SCHEDULE ON
SHEETS 10 & 11 OF 15)

NOTE FOR COMBINATION OF SECTIONS :

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION,

N C"”" 1/4” 8-20 S. S. MACHINE
CONCRETE ANCHORS NGOLT, W NUT & WASHER
(SEE SCHEDULE) - G
.—\—ﬂ\ g s ™ Min,
| I—— &
Nk e
\ —E
o N | | [
POURED
CONCRETE ui N | [
REQUIRED i | ]
\\\\ . o
[ i
| | [
| I I
SEE SCHEDULE FOR | (.
Min. SEPARATION [ [
TO GLASS | [
| ] [
| f\\' I I I
| ¥ i | i
| | !
1/4" 820 x 3/4
| BOLTS W/ 7/3/ ' oo
3/32 WING NUT | f I
I & 12" 0. C | [ [
ALTERNATE ! .
l 1EG LOCATION—‘ : : y
[
| [
7 / 7, 7 ; :
POURED L M R P
CONCRETE & g .
OR CONCRETE 1 [ [
BLOCK WALL i 1. L
REQUIRED /]
A ey I~
LT %o L\EE '
r———/-ﬂ|§ B T—1" Min.
/_ F 2 1" .
CONCRETE.-ANCHORS /] 1/4” 6-20 S. S. MACHINE
(SEE SCHEDULE) ) Cont 5OLT I/ NUT & WASHER
«—(0) cont. @ 12" 0. C.

CONCRETE. ANCHORS -
(SEE SCHEDULE)

POURED CONCRETE

REQUIRED

\\\|\\ NN

l

Min. SEPARATION
7O GLASS

Cont.

|
| I
| I
| !
| |
{ |
|
' |
"SE'E SCHEDULE FOR:__
| |
| |
|
l

—®

7/8" x 3/32"
WING NUT @
L EVERY STUD

-/J/': @ 12" 0. C.
e

1.1258"

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

7 _/7 i L
A i 23
POURED. CONCRETE |
CONGRETE ANCHORS / ED 4

(SEE SCHEDULE)

CEILING & FLOOR MOUNTING

INSTALLATION — SECTION 6

SCALE

3/8” = 111

s*’ PR
/ON © W o

”'mmnm““

CONCRETE ANCHORS

(SEE SCHEDULE)
POURED CONCRETE \1 f

REQUIRED

|ALTERNATE
LEG LOCATION = b

"

| 174

|5/4 BOLTS lf(/
7/8" x 3/32
¥ING NUT ®@

[ 12" 0. ¢

-

|
__[sze‘ SCHEDULE FOR
| TOo GLASS

|
|
|
|
|
|
i
|
|
|
Min, SEPARATION 1l"*
[
|
|
|

| 1/4" ¢-20 x
374" BOLTS W/

I 7/8" x 3/32
WING NUT @

I 12" 0. C

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

R

|
ST //7[ _
“POURED CONCRETE 4

REQUIRED |

CONCRETE ANCHOR.S/L

(SEE. SCHEDULE) -E. D,

CEILING & FLOOR MOUNTING
INSTALLATION —~ SECTION 7

SCALE : 3/8" = 1"

CALK=IN OR ALL POINT SOLID-SET

OR ELCO male/famale

PANELMATE OR CF TAP—-GRIP
(3EE SCHEDULE)

Min,_ SEPARATION

VL Ll
/)
e 7
-OR CONCRETE-  © /]
BLOCK WAL W e
REQUIRED /
A

E==Zf
/ ?’

CALK=IN OR ALL-POINT SOLID=SET

OR ELCO mais/female 94

PANELMATE OR CF TAP-GRIP

POURED
CONCRETE 3 |
OR CONCRETE
BLOCK WALL
REQUIRED

N\ NN

1

I

|

|

|

|
_ISEE SCHEDULE FOR
|

(SEE SCHEDULE)

___r____....u_.. e

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9}

WALL MOUNTING INSTALLATION (D. M.)

— SECTION 8

SCALE : 3/8" = 1"

PRODUCT REVISED
as complying with the Florida
Building Code

Acoeptmice NojfZ

- e,
dmi Dadg ruductComml

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

FLORIDA Lic. § 44167

LG /AG.

0.050" BERTHA ALUMINUM STORM PANEL DRAW/N ar:
) 11/15/11

/ iLTEC O e \ EASTERN METAL SUPPLY, INC. ot

4268 WESTROADS DR.
P A O A M e M WEST PALM BEACH, FL 33407 11-117
Phons 1 {305)871—1530 , Fox © (J05)E71-1531 DRAWING N
£B~0006719 REV, #0 " DESCRIPTION BATE | REV. No DESCRIPTION oATE °
WALTER A, TLLIT Jr. P. E. - e 07 ~ -

1 1/15/1]] 3

4

SHEET 4 OF 15




CONCRETE ANCHORS

CALK—IN OR ALL POINT SOLID-SET OR
ELCQ male/female PANELMATE OR
ELCQ moale/femuale PANELMATE PLUS

1/4"0~20 SIDEWALK BOLT OR ®

(SEE SCHEDULE)

ar Ll

CONGRETE ANCHORS —/_
{SEE SCHEDULE)

Cont.

WALL MOUNTING INSTALLATION
SECTION 9

SCALE : 3/8" = 1"

& D. = EDGE DISTANCE
(SEE SCHEDULE ON
SHEETS 10 & 11 OF 15)

NOTE FOR COMBINATION OF SECTIONS :

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

1/4'0-20 TRUSSHEAD BOLT + +

CALK—IN OR ALL POINT SOLID~SET OR
ELCO rnale/female PANELMATE OR
ELCO ma!e/female PANELMATE PLUS

1# 40 —20 SIDEWALK BOLT OR ©
/

1/4"0-20 TRUSSHEAD BOLT + +

(SEE SCHEDULE FOR SPACING)

. . . SCHEDULE FOR SPACING) N
=T =3 0 ¥

Bk g8 N
-
| T | I — _\ | I
| ] == | [

POURED E E%

CONCRETE i | Il _ _§ .
REQUIRED | | [ \ I |
Naaabaaaay) e SN L

| | | | POURED W \
CONCRETE N .
I | [ REQUIRED \ | [

/! SR I INSNNNVANNNY S
£xisTNG— | f bl > I [
BIASS i I b & | (.
__lSEE SCHEDULE FOR | . s 1 .
Min. SEPARATION  |I— | ' | I
TO GLASS | I Yy SEE SCHEDULE FOR | |
| | | | 5 Min. SEPARATION i I |
g 7O GLASS
| I S | | |
| AL i ] AL L
| N T E_ AT T
I{/47/ﬁ|5:'20 X ;;Jszsms. ! I : z 1/4" §-20 x 1" S.S.MS. I : :
# x 7/8" 8 x 3/32" -

Wive 'NUT ® 12" 0. €, | [ §| W{VG/NUT ’Y 12/0 c i [
| ] i | | !
| Lo g | [

I [ : : o | | ! I
- I - % : [ | -
A | I e = VN A [
_ | i [ 7 : I | |
POURED i oo POURED I | [
CONCRETE A - CONCRETE ,
OR CONCRETE | [ I OR CONCRETE | I I
BLOCK WAL g - - BLOCK WALL a | o
REQUIRED o ? I L REQUIRED u | et
[ | |
4 o I I [
Qe | I I
als
4= MELO [

Mox, PANEL LENGTH (SEE SCHEDULE, SHEET 8)

—E===
[
POURED L
CONCRETE
REOUIRED_\
ANNRRN NN

2/8%8 x 3732"
/ W/”/VG NUTS @ 12" O.C.

L

Ll

TO GLASS

h

@ 12" C

7/8" 9 x 3/32"

I
“ SEE SCHEDULE FOR™
Min. SEPARATION
1
|
|
I
| WING NUT @
EVERY, STuD _\
| -

% 4
POURED
CONCRETE

OR CONCRETE W
BLOCK-WALL
REQUIRED

CONCRETE ANCHORS7
(SEE SCHEDULE)

[ 1=

CONCRETE ANCHORS J_
(SEE SCHEDULE)

WALL MOUNTING INSTALLATION

SECTION 1

SCALE : 3/8" = 1"

+ 4
SIDE WALK BOLTS ARE Vft "ﬁxJ{J.?'THICK
HEAD MACHINE SCREW

AS PER NOTES A.2 & EZ (SHEET 1}

TRUSS

HEAD BOLTS ARE 1/2 ﬂxf/B'THICK

HEAD MACHINE SCREW W LENG
AS PER NOTES A2 & B.2 (SHEET 1}

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 3)

CONCRETE ANCHORS £ D
(SEE SCHEDULE) \ n e
POURED
CONCRETE - II N
REQUIRED\ £0. i1 £0.—~ N
OUONUUINNNNN AN SR
| %I g;

“SEE SCHEDULE FOR
TO GLASS

e = —ad

¥

7/8" 8 x 3/32°
WiNG. NoT @—, |l
EVERY STUD :
@ 127 0. ¢

Cont, _L[
| ALTERNATE EEG 3,

I
I
I
I
I
I
|
I
|
I
I
I
Min, SEPARATION ==
I
|
L
|
t
i
I
I
|
|
I
I

r
I
|
I
I
i
!
I
I
I
I
I
I
[
|
|
1
|
I
I
|
I
I
I
I
i
|
i
|
I
I
|
i

I
I
I

~~—(4) Cont.
{

Mox. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

’_[" LOCATION N

WALL MOUNTING INSTALLATION

SECTION 11

SCALE : 3/8" = 1”

NAL E\‘\Q’

”Wuuauu&“\\

, // ,I/J/ PO/UZ_D// ///////I/li cooe o
!_I CONCRETE /" APPLICABLE
congre wevars— |5
CEILING & FLOOR MOUNTING
INSTALLATION SECTION 12
PRODUCT REVISED

SCALE : 3/8" = 1

]

as complying with the Florida
Building Code

Acceptance No/ 2 9.5
Expirgtion Date%ﬁg;a [3‘:4
By : %
Miami Dad€Product Control .

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

8355 NW.

a” L.G/AG
0.050" BERTHA ALUMINUM STORM PANEL | peeres
- . 11/18/11
ILIEC O ne EASTERN METAL SUPPLY, INC. o
4268 WESTROADS DR,
T, TETe & SR ST, et B, 117
Phone ¢ (J08)871 1530 . Fox ¢ (308)871— 1831
" EB-00087 19 £ REV, WO BESCRIPTION BATE | REV. Ko DESCRIENON DATE DRAWING No
S/ " P&, - ) -
WALTER 44 t_;'é“;, i T 0L 05-078_|(1/1871 : SHEET 5 OF 15
P po - - -




11 Ml — 2" —
PENETRATION TO - MAX
CONCRETE BLOCK ‘\q

& 2" TO CONCRETE |-

4
<

\_ EXISTING

BRICK VEENER

X 3

@, @

: 4 . 4
. / o

T &

500"

/@Cont. .

[.250 *
Max.

e

POURED CONCRETE j Zf/‘f "#x8" ELCO male
OR CONCRETE BLOCK PANELMATE TVAS ANCHORS
WALL REQUIRED (SEE SCHEDULE FOR SPACING).

EXISTING
STEEL ANGLE LINTEL
AS APPLICABLE

o

TO GLASS

1L Wil .
PENETRATION TO .
CONCRETE BLOCK

& 2" TO CONCRETE

|

| /\/

i /\/

i SEE SCHEDULE FOR

Min. SEPARATION

>

EXISTING
BRICK: -SILL
1/4” 5-20 x 3/4"
BOLTS W/ 7/8"x
3/32" WING NUT ©
1220, ¢

EXISTING
FLASHING AS
APPLICABLE

1/2”

(T I

Max. Max.

EXISTING
BRICK
VEENER

POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

1/478x8" ELCO male
PANELMATE TVAS ANCHORS
(SEE SCHEDULE FOR SPACING).

BUILD QUT INSTALLATION
SECTION 13

3 12—

X. PANEL LENGTH=108"

Ma

Cont,

- E D = EDGE DISTANCE
(SEE SCHEDULE ON

CONCRETE ANCHORS

Min. SEPARATION

GLASS

EXISTING '-‘idl

SEE SCHEDULE FOR
Min, SEPARATION
TO-GLASS

CONCRETE ANCHORS |
(SEE SCHEDULE)\ -% (SEE SCHEDULE} . ]
— 5] 3 2
—t=_ o % R
I g8 —FE== —r"’ R
T —
I | I ' 1
POURED " | | o | bl
CONCRETE | | POURED u I I I
REQUIRED Cont. CONCRETE | [
A N : I REQUIRED \ ] | | Cont.
T | ENNNNN RN l
| | § i i
| I i | I
| I
EXISTJNG—/I : “@ [ I
| I
I
H

7O GLASS

_] SEE SCHEDULE FOR ||
I
!
I
|
T

A

|
1/4" 8-20 x 1" SS.MS.
W/ 7/8" 8 x 3/32"
WING{VUT@ 12" 0. ¢

!
t
|

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 8)

A IO |
.. - [ L
POURED — e
i Z i LI
0F” CONCRETE e | /]
ot S 7 | g |
uj I
A | S TR
{ REQUIRED i
jIE uwo
= | 7
r4=h | | 7
CON(CRETE ANCHOR.§ 7 =*_r~375 " é
SEE SCHEDULE, '
3 a
CONCRETE ANCHORS E/‘
o (SEE SCHEDULE)

SECTION 14A

|
|
I
|
[
!
|
|
!
|
|

/4" p=20 x 1" SS‘M’S

W/ 7/8" @ x 3/32"
WING NUT @ 12" 0. C.

Cont,

SECTION 148

WALL MOUNTING INSTALLATIONS

SECTIONS 14

SCALE : 3/8"

INSTALLATIONS VALID FOR PANELS (1)

= 1"

LID FC ELS (1) USED JOINTLY
WITH INTERIORLY REMOVABLE PANELS

‘“WMHNHCW{,“

L o e — e — e e i E— — — — — -

"L” Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9}

HOLES AT

INTERIORLY REMOVABLE PANEL(TD)W/
SIDEWALK BOLTS

CONNEGTED TO
@ 8" 0.C & FASTENED
AT REAR W,

EE DETAL 2)
THRU 5/8"8

7/8"8x3/32" WING NUT
@ EVERY SIDEWALK BOLT.

PRODUCT REVISED

as comnplying with the Florida

Building Code

Acceptance No 1 2- 0209, 04

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

: ¥
RN
SHEETS 10 & 11 OF 15 @ N » L.G./AG.
SCALE : 3/8” - 1” ) _-' '-_ ‘ﬁi’ - 0.050 BERTHA ALUM!NUM STORM PANEL DRAH{N ay:
| nore For comemamion oF secrions : O 7 gy > -r_l— 11/15/11
WALL MOUNTING £ : : / ". E CO iNc \ EASTERN METAL SUPFLY, INC. S
N SECTIONS CAN BE = . : *
= . ! 4268 WESTROADS DR.
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. z ‘Jé‘) d /5?7-‘3 (ﬁ/ S oo AT, TESTING & ENGINEERING COMPANY. WEST PALM BEACH, FL 33407 11—117
) 2, f?‘.‘ . "‘Z 0 RIDM . (8? & Phane (Josjari_srm Fa; ¢ (305)871— 1531 DRAWING Mo
. e . 03 ~pa0E719 REV. HO DESCRIPTION GATE | REV. Me DESCRIPTION DATE
%, &&/ AL y :Q\ \;§. e L I o T oD 06-078_|1i/15/11] 8 - ~ 1 steer 6 oF 15
’”54_‘ OIU Al F‘“ > \‘\\ i 2 = — * Z oy

W




POURED CONCRETE
REQUIRED

CONCRETE ANCHORS
(SEE SCHEDULE )

\X\l\\\\\\

I
I
| |
I |
I
| | 5
[ E
P
| o &
(. 3
SEE_SCHEDULE FOR | R
Min, SEPARATION ol S
(- Q
| P &
| : 5
i
| P g
[ i
I I g
ool 7em o x 32327 5
| | 3
| | A" EVERY STUD
|
. i
/ / / / 4// /1 / ,/ / EDGE OF
POURED CONCRET! [ ] SIAB IF
REQUIRED 11

o
€

% g
.og“
L3
-}

CONCRETE ANCHORS f
(SEE SCHEDULE )

(AN]

SECTION 154
CEILING & FLOOR MOUNTING INSTALLATIONS

APPLICABLE

CONCRETE ANCHORS
{SEE SCHEDIAE )

POURED CONCRETE
REQUIRED

\\\I\\\\\\ NN\

|
|
|

SEE SCHEDULE FOR
Min. SEPARATION

—-T0 GLASS

I
|
!
|
|
|
I
|
|
|
|
|

Max. PANEL LENGTH (SEE SCHEDULE, SHEET )

7/8" ¢ x 3/32"
WING NUT ©
I EVERY STOD
1l @270 c

- —"_i—l
////i’%//

A
/ﬁ’
E D

POURED CONCRETE
REQUIRED

CONCRETE ANCHORS
(SEE SCHEDULE )

SECTION 158

1/4"-20x1" 5.5, SIDEWALK BOLTS,

SECTIONS 15

SCALE » 3/8" = 1”

W/3/4" SLOTTED HEAD, FIXED
INTERIORLY REMOVABLE PANEL

THRU KEY HOLE
W/ 1/4"-20 NUT AT REAR.

438"

—. 875" g—— BFY

750" —

SCALE; 1" o 1"

® 8" 0.0

APPLICABLE

INTERIORLY REMOVABLE PANEL @ W/
SIDEWALK BOLTS (SEE DETANL 2)
CONNECTED TO THRU 5/8"0

HOLES AT @@ 8" 0.0 & FASTENED

AT REAR W/ 7/8"¢x3/32" WING NUT
@ EVERY SIDEWALK BOLT.

CONCRETE ANCHORS
(SEE SCHEDULE )

POURED

CONCRETE
REQUIRED _\

T[T

INANNANNNNN
|
|
|
|

l SEE SCHEDULE FOR
= Min, SEFPARATION —

7O GLASS

|
|
1

e
N

!

CONCRETE ANCHORS
(SEE SCHEDULE )

POURED

CONCRETE
REQUIRED \

NNNNNNNSASY

\ E D.
-

ol eo

SEE SCHEDULE FOR
O GLASS

7/
7
o

I
|
|
|
|
|-— Min. SEPARATION —

Max. |

2507

s : ) Cont.

-

WING NUT @
EVERY STUD
® 12" 0 C

!
|
|
|
|
|

Cont.
I ALTERNATE LEG

| ’_[_LOCATION N

P

7/8" ¢ x 3/32"

©—]

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)-mmmam ]

[
I
I
I
I
I
I
|
I
i
|
|
|
!
t
f
[
I
|
I
I
I
I
!
!
I
I
I
I
|
|

W22 2

|1
I
L POURED

REQUIRED

LSS AN

L, SLAB IF

1 APPLICABL

CONCRETE  CONCRETE ANCHORS _/L
ED —4

/® INSTALLATIONS VALID FOR PANELS (1)USED JOINTLY

WITH INTERIORLY REMOVABLE PANELS I; )

A\ " {47
<R A Tl o,
R \RMEEIEE m s,
L COWCENS & S,
S0 T I o R
L ¥ L%
SHEET 10 & 11 OF 15) 2 No. 441 p
NOTE FOR COMBINATION OF SECTIONS : % ",'?3// BTBERY o F
% O ARIDR,

FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION,

UL

(SEE SCHEDULE )

SECTION 164

SECTIONS 16

SCALE : 3/8" = 1"

A

EOGE OF

DETAILY 2

748" x 3/32" |
WING NUT @~ ||
~EVERY STUD ~\ -

@ 127 0. C.
Lont. _I_

ALTERNATE LEG i

dles =]

|

|

|

I
B
:

|

|

— Max. PANEL LENGTH (SEE SCHEDULE, SHEET 8)

|4

|
I
|
|
|
|
|
|
|
|
|
!
I
|
T
|
|
|
|
|
|
|
|
|
|
|
I
I
I
s
]
-
|
|

N, /7//'

|l pouren
I CONCRETE
REGUIRED

SECTION 16E
CEILING & FLOOR MOUNTING INSTALLATIONS

11) l_l .
S | VA
1%
CONCRETE ANCHORS _/L!
{(SEE SCHEDULE ) I-'—E.D.—-I
INTERIORLY REMOVABLE PANEL (DW/

SIDEWALK BOLTS (SEE DETAIL 2)
CONNECTED TO {1} THRU 5/8"8
HOLES AT () © 6" O.C & FASTENED
AT REAR W7 7/8"9x3732" WING NUT
@ EVERY SIDEWALK BOLT.

PRODUCT REVISED

as complying with the Florida
Building Code
Acceptance No | 7
Expiration Date o

By f]

Miami DadefProduct Control

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

LG /AG
0.050" BERTHA ALUMINUM STORM PANEL DRAH{;V ay:
, ) : 11/15/11
ILIECO e EASTERN METAL SUPPLY, INC. | ‘o
4268 WESTROADS DR.
ESTING & E MPANY
s NG & Jogoéﬁﬂ %&'ﬁs?n 33166 WEST PALM BEACH, FL 33407 11—-117
Phope ; (305}871~153C . Far : (305)871~1531 DRAWING No
WALrEREiHo}'%.OL?T? 1Jg o E REV, ND BESCRITION REY. He CESCRIPTION DATE
. o F.o L i - -
FLORIDA Lic. # 44167 L oLD 09078 N1/t5/11 = SHEET 7 OF 15




7/4u Max. GAP @ 1/4" Max., GAR
7;\ aNVANE RE
SECTION B-B
SCALE : 1/8" = 1”
@_ 14B/8, _’ 14A/86,

(WHOLE) (WHOLES) 15,168/7 15,16A/7
BUT NOTCHED 1/4"-20x1” 5.5,
EA CORNER @ SIDEWALK BOLTS.
oM AS (T SEE DETAILS 2/7,
L ' y 2715 , (WHOLE)

- | INTERIORLY REMOVABLE -PANEL (1)W/
SIDEWALK BOLTS (SEE -DETALLS
S 2/7, 2/14) CONNECTED TO THRU
8 5/8"0 HOLES AT (D@ 6” 0.C &
N FASTENED AT REAR W/7/8"0x3/32"
WING NUT @ EVERY SIDEWALK BOLT.
M s
== Sl
&3 or(g)or
P 144/6,
15,16B/7 15,16A/7
3" CONCRETE ANCHORS (SEE SCHEDULE) e 37 ]
Max. May,
1 Min, 1 Min.

INTERIORLY REMOVABLE STORM PANEL

PARTIAL ELEVA TION Y

SCALE :

]/8 L ”

PRODUCT REVISED
a3 complying with the Florida

Building Code
Acceptance No

Expiration Dates /
By Wi
Miami Dad dvict Controf

FLORIDA BUILDING CODE (High VYelocily Hurricane Zone)

FLORIDA Lic. § 44167

F- - - 4

o LE/AG.
0.050" BERTHA ALUMINUM STORM PANEL |  passhe
11/15/11
iILIEC O e, EASTERN METAL SUPPLY, INC. e
4268 WESTROADS DR,
SlELIT, ';gf,?ffg;& ENG’NE,@‘?G’:%DEES‘”::A”{{& WEST PALM BEACH, FL 33407 17117
Phone 305/871—-1530 . Fox J05;871 1531
EB-0006719 REV._NO DESTRIPTION oATE__ | REv. Ao BESCRIPTION DATE DRAWING No
WALTER A, TILLIT Jr. P. E - TR 74T = NN PP Rp—




POURED CONCRETE
OR CONCRETE BLOCK

CUT PANEL WALL REQUIRED

il
\\\

20 3 003 510 o1 0 MAXIMUM A.5.D._DESIGN PRESSURE FATING (p.s.f.) AND
Tkt o T 8 CORRESPONDING MAXIMUM PANEL LENGTH "L’ SCHEDULE

o CRETE ANCHORS
/ 12" 0.

E‘l—r HALF FPANEL
a

-

8—]

5

2 1/ GAF |

T A T
g8

& .
2 x 4" x 125" Ta w8 % on | wax. paner cenomn pidererail
3105-H14 OR 6063-T6 ALLOY 3 PRESSURE RATING | L (ft) MIMMUM SEFARATION|  SECTIONS f' & -4
Cont. Alum, ANGLE \ - - TO GLASS ANY COMBINATION
' i / N/~ POURED CONCRETE W (p.s.f.) (SEE SECTIONS) oF THEM
J — y‘ OR CONCRETE BLOCK
CASE A (Plan N WALL REQUIRED +650, ~77.0 | 8'-0" OR LESS 2 1/4" 1 THRU 8
SCALE: 1/4" = 1* N +65.0, ~77.0 | -9'~0" OR LESS 3 11/16" 1 THRU 8
CASE D CP[an) +65.0, =72.0 | 9°-0" OR LESS 3 1/2" 11
SCALE: 1/4” = 1" +62.0, ~73.3 | 10'-0" OR LESS 3 7/8" 2,6 74&8
+63.5, —83.5 9'—0" OR LESS 3 1/2" 9, 14, 10
N T .
\\\ I +65.0, —65.0 | 9'-0" OR LESS 3 1/2" 12, 15, 16
N VARIES 5"" Y
"_'__"'—'I .5, —~63.5 —o" 3 374 13
N | +63 9'-0" OR LESS | /- _
SBRETE T N\ on62)
POURED CONCRETE
WALL REQUIRED ~\\ OR CONCRETE BLOCK
NS WALL -REQUIRED
§ —2.500" Min,
.\_\ CONCRETE ANCHORS. r
o. ¢ '
—:&
|
1.000
@@
OR®0R 2" x 2" x 085" TO —
2" x 8" x 055" Cont.
Alum, ANGLE OR
OR@ .080" 3105—-H154 SHEET
METAL Alum. BENT PLATE
1/4" ¢ BOLT 4" x 4" x 072" /\
o 24" 0. C. 3105-H14 OR B063—T6 ALLOY —
WAACKNUT Cont. Alum. ANGLE
CASE B (Plan) CASE C (Pla
. . ' oy PRODUCT REVISED
SCALE: 1/4" = { SCALE: 1/4" = 1 as complying with the Florida
Building Code
AcceptanceNo /20229, 0 §
ExpingtionDate 0 & /o7 /2042

y
END CLOSURES DETAILS Vi s i o

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

0.050" BERTHA ALUMINUM STORM PANEL LGmE

/ ||L|Eco ING. \ EASTERN METAL SUPPLY, INC. | i’

4268 WESTROADS DR,

TiLLIT TE.S‘TING‘ &: ENGINEERING CDMPANY
@ 8355 MW, Soih WEST PALM BEACH, FL 33407 11—-117
, \\!Q \\\ Prone : (Jasjan 1530 F'ox (305)87! rs:r DRAWING No
J’I, NAL E N . EB-(;_?Uﬁr?fg REV. O DESCRIPTION DATE | RiV. fo DESCRIPTION BATE
WALTER A. TILLIT Jr. P. E - - -
Imaammu\\‘ FLORIDA Lic, # 44167 ; OLO 0_5 078 n/:f/:f : - - SHEET 9 OF 15




4041 2l LI (26 JINSTALLATIONS TN ONCRELTY AND it HLOCK RUCTUR
sl : MAXMUM AN_E:Hons SPACING FOR E. D. = 3 1/2" % ";",}’;,,“5"”2“; 0 nn PANEL
PRESSURE REGULAR TAPOONS _ CRETE-RLEX 554 ZAMAC NAILIN CALKC~IN SOLD-SET £F TAP=GRIP PANELMATES PANELMATE PLUS 410 5.5, TAPCON ANY COMBINATION | LENGTH L° ()}
FATING {o-+1) T'7o GONGRETE | 7o WASONRY | To CONGRETE | 70 SNy | 70 Concree] To Tawoniy |70 conerne o msavi 7o CONCRETE | TO MASONRY | 70 GONCRETE] 10 #ASONRY | 70 CONCREITE | 70 WASONRY | T0 CONCRETE| F0 MASONRY | T0 CONGRETE] T0 MASONRY OF THEW £. D. = EDGE DISTANCE
a” NAA NA | NA 4 NA 8" N/A NAA /A 5" N/A 32 | wa NA NAA N/A N/A ! (for)
2" - 8" NA NAA 10" 712" 12" g* N/A N/A 12" Fad 1" " 12" 7 12" H/A N/A 1 (BorroM)
12" NAA N/A N/A 10* N/A 12" NA N/A N/A 12" NAA 1" A NAA NAA N/A NAA 2 (ToP)
2" 6” NA N 10" 72 12" I NA NA 1z Ka 1" 1" 12" 7 12" N NAA 2 (BoTTOM)
12* N/A NA N/A 10" N/A 12" NA N/A N/ 12" N/A 1" N/A N/A MNAA N/A NAA 3 (T0P) - ANGHORS LEGEND
12" 2 NA N/A 1" 7 12" 12* 9" N/A NAA 12" a" 1 " 12* 7 12" N/A NAA 3 (BOTTOM) . ANCHOR TYPE 4 N’gﬂb °
12" M/ N N 10" N 12" N/A N N/A 12" NAA T N/A NA N/A N/ NAA 4 (T0P) . SPACING
2 o g v | 1o vz | o | e | o | wm | 5 N SR WECA A I 7 D) SAMAG NAILING. CF TAP-GRIP, PANELMATE OR PANELWATE PLUS,| 50"
12" N/A N/A NAA 10" NA 12" N/A NAA TH/A L gzt NAA 11" N/A NAA NAA N/A N/A 5 (ToF) CALK—IN 2.5"
2" 6" N/A NAA 10" 7 12" 12 g" NAA NA a2 8" " 1 12" 712 N/A N/A & (BOTTOM) - SOLID-SET 35
8 1/2" N/ 12* N/A 5 12" N/A 7 172" N/A NA N/A gi1/2" 1 wa 1 1/2" N/A 1" N/A 2 1/2" N/A 6 (ToP)
8 1/2" NAA 12" NAA 5 1/2% N/A 7 12 NAA 10 172" N/A 8 1/2% N/A 11 1/2% N/A T NAA 9 1/2" NAA & (BOTIOM)
+63.5, ~63.5] 7 1/2" N/A 11 1/2" N/A 5" N/4 7" A 1o 12 N/A 7* NAA 10 1/2" N/A 10" NAA 8 1/2" N/A 7 (TOP/BOTIOM} | 9'-0" OR LESS
NAA NA NAA N/A N/A N/A 12" " 12" 12 12" 8" &" 6" 12" 12* M/A N/A 8 (TOP/BOTTOM) | *
12° MN/A 12* N/A NAA NAA 12" NAA N/A N/A NAA MNAA 12" N 12* NAA 12¢ NAA 2 (Tor}
12 6" 12" 12" N M 127 " N/A N/A N N/A 12" 1" 12” 7 /2 12 7 172" | g (soTrOM)
N/A NAA N/A NAA N/A N/A 12" &* 12° 12* N/A N/A 12" 6" 12" 8" N/A NA Ly (}3,,% *
12" 6" 12" 12 N/A WA 127 g NA /A NAA N/A 12* 10" 12" 7 1/2" 12" 7 1/2" | 10 (5OTTOM)
NA N/A N N/A NAA N/A NA- N NAA W/A MR N 12" " NAA N4 NA N/A 13 (ToP}
NAA N N7A WA | wna NAA NAA~ WA N4 NAA N/A N 12* 6 1 N N/A N/ N/A 13-(BOTTOM) 1
12° NyA- 12" NAA NS N/A 12" N N/A T N4 WA N/A 12" N 12" N 12* /A 14 (Tor} |
12* &" 2" 12" N/A- NA | 1 a* N7A N/A NAA NAA Syl " 12" 7 12 12" 7 1/2" 144 (BOTTOM) _
) 12* 412 12" 9" NAA N 2T 6 172" N/A N/A- N NA 12" 8" 12* 5 1/2" 12" |5 1/2" | 148 (BOTTOM)
11 1/27 NAA 17" A NAA N/A 12" N/A N/A N4 N/A NAA 12" N/A 17" N/A 12" N/A 12 (roP)
8 1/?" N/A 12* N/A N/A N/A 7 12" N/A 10 172" N/A NAA N/A 11 172" N/A 1" NSA g 12" NAA 12 (BOTTOM)
12" N/A 12* NAA N/A N/A 2" N/A N/A N/A N/A N/A 12" N/A 12" NAA 12" N/A 15 (TOP)
g /2" NA 12* NA N/A N/A 7 /2 N/A N/A N/A NA N/A 11 1/2" N/A 11" NAA g 12" NAA 154 (BOTTOM)
N/A NAA 3 12" NA N/A N/A N/A N/A N/A N/A N/A N/A 3" N4 3" N/A 3" N/A 158 (BOTTOM)
1 12° N/A 12" N N/A N/A 12" N/A NA NAA NAA NS 12" N/A 12" N/A 12" NAA 16 (Tor)
8 1/2" NAA 12" N/A N/A NA 712" N/A N/A N4 NA NA 11 1/2" N/A Th NAA 9 1/2" N/A 164 (BOTTOM)
3 /A 4 12" N/A NAA NAA 3¢ N/A NAA NAA N/A NAA 4" N/A 4" NAA 4" N/A 168 (BOTTOM}
5" N/A N/A N/A g N/A &" N/A NAA N/A " NAA 6 1 N4 N/A N/A N/A NA 2 (ToP) PRODUCT REVISED
e 5 1/2* N/A NAA P & 5" " N/ N/A & & & & NAA N/A NAA N/A 2 (BOTTOM) gsu‘i’l‘:lfl_f:ll;lggge\viﬂl the Florida
+65.0, ~65.0] & NAA N/A N/A 4 1/0” N4 5" A/ NA N/A 6 N/A 5 12" N N/A WA NAA NAA -6-(T0F)  |g"-0" 10 10°-0* S:c}zptlgncc No Z— 0209.0f
6" N/ N/A MA | 412" | wm 6" na | s | 5" na | 5127 | w N/A N/A /A ~M/A & (B0TTOM) P jatior D"‘“’i_g" 8Lo7/20/3
8" M/A M N/ 4" NA 6" N/A 9 /2" NoA &" NA 412" NAA NAA NAA NAA N/A 7 (Tor/BorroM}| E,,’lfmm
N/A NA N/A N/A N/A NAA 6" 6" 1z- 12” 5" 6” 8" 6" NA NAA NA N/A |8 (Top/BOTTOM) | * .
) ) - ) - \\\\QW‘”%"’“”"*’wﬁ,‘,ﬁ
" REDUGE ANCHOR STACHE. BY MULTFLYING SPACHE. SN e ACE, RO & 0, LEss TN 3 1zt SHAER ,;,}‘.',Tfl.z,f,:”% FLORIDA BUILDING CODE (High Vslocity Hurricane Zone)
J(%%TE;:HJ@%P%RE%IO}F‘?'OCA;E-;%S?&%H%tﬂi‘ff) Ghdne osmmeo USING FACTOR SHALL NOT BE FT ‘\GENS."-. ‘{;3‘” ” L.G./AG.
LESS THAN MINIMUM SPACING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND. £ oV £ 0.050" BERTHA ALUMINUM STORM PANEL DRAWN &Y:
FACTOR 11/18/11
AETUAL £ D | ReGuLAR TeCON, 410 5.5 TaPoON, GRETE-FLEX 558 i Nsoup-ser |or mamome / |||_ | ECO . \ EASTERN METAL SUPPLY, INC. i
> SR I T 1%/ ﬁﬂ'fﬁ/ s § | T & SeEe, coniy ves? il erc, . 5407 11117
2 1{2” 71 o - 80 %%’C??(\." .{ O ??\. DN Q;‘}S Fhone (305)’87;;?.0:-568?.;9: (‘;05):7’—15” REV. HO DESCRIETION pATE REV. Ho DESCRIPTION DATE DRAWING No
2 20 - - - % .%‘?6’ /ON‘AL {_%\Q?\\\\@ WEGRoR Loy Fatir™ ! o0 05-078 WIIIR.3 = = I SHEET 10 OF 15




A ;‘3,’"5‘?5’,,-,“ MAXIMUM ANCHORS SPACING FOR E. D, = 3 1/2" % gi_g’#gﬁi-; fg MAXIMUM PANEL
mn;ﬁ'assﬂg.:kl'ﬂ) : REGULAR TﬂPCONS CR_ETE—FLEX 5.5'4 ZAMAC NAILIN CALK~IN SOL!'D—SE." CcF MP-_GR.'P PANELMTES’ PANELMATE PLUS ) 410 5.5, TAPCON ANY COMBINATION LENGTH "L” (i)
: JU 'CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | 10 CONCRETE | TO MASONRY | 10 CONCRETE| TO .'-MSOI_\’RY T0 CONCRETE ] TO MASONRY | T CONCRETE TO MASONRY | TO CONCRETE TQ MASONRY | TO CONCRETE | TO MASONRY } TQ CONCRETE | TO' MASONRY OF THEM
6" N/A N/A N/A 3" N/A 8" NA N/A N/A 3 12" N/A 212" N/A N/A N/A N/A N/A 1 (T0F)
12" 5" N/A NA 10" 5" R 12" 6" | 912" | 912" | wnm N/A A NA ! (BorTom)
12" N/ N/A N/A 10" NAA 12" N4 N/A N/A 12" M/A 9 12 N/A N/A N/A N/A N/A 2 (ToP)
12" 5" N/A N/A 10" " 12" 712" L N NA 12" 612" | ¢ 12 g” N/A N/A N/A NA 2 (BOTTOM)
12" N/A N/A N/A 10" NA 1z" N/A NAA NAA 12" N/A 9 1/2" NAA N/A N/A N/A NAA 3 (TOF)
7 12" 5" N/A N/A 8 6" 127 | 712" 1 na N/A 12" 6 1/2° | 9 12" 9” N/A RZ N/A N/A 3 (BOTTOM)
+65.0, 770 12" N/A A N/A 10" N/A 12" 1 NA N/A A 12" _NA g 1/2" N/A N/A N/A A N/A 47(10P) §'~0" OR LESS
12" 57 N/A N/A 8" 6" 12" 7 172" N/A A/A 12" 61/2" | 9 12" 9" N/A N/A N/A N/A 4 (BOTTOM)
12" N/A N/A N/A 8" N/A 12" N/A N/A N/A 12" N/A 9 1/2" N4 N/A N/A N/A N/A 5 (ToP)
12" 4172 N/A N/A 7" 5" 12” 8" N/A N/A 10" 5" 7120 | 72 N/A N/A N/A. N/A 5 (BOTTOM)
7" NAA N/A N/A 4 1/2° N/A 8" N/A N4 NA 7" N/A _8" NAA NAA N/A N/A NAA € {TOP)
7 N/A N/A N4 4 172" N 8" N/A 9" N/A 7" NA 5" N/A N/A N/A N/A N/A 6 (BOTTOM)
6" N/A N/A N/A 4" N/A 5 172" N/A 9” N/A 6" N/A 4 1/2" N/A NAA N/A N/A N/A 7 (TOF/BOTTOM)
ol A N/A N/A NAA N/A 12" 8" 12" 12" 12" 6" 5" 6 N/A NAA N/ N4 |8 (TOP/BOTIOM)
i e -N/A 12" NA NAA NA 6" NAA 9 12" N/A NAA N/A 9" N/A 9" KA | 7oaz2" L wa 7 (Tor/BOTioM) |
{+650, —720 - N4 KA NAA N4 AlA NA 127 T g 12" 12" N/A N/A 127 6" 12" 8 | NA T NA- 11 (TOR) §'~0" OR LESS
) ) 12" 5 1/2" 12* 10 1/2" NAA NAA 12* 8" 12" 12" N/A N/A 12* g 1/2" 12" 6 1/2" 12" 7" 11 (BOTIOM)
g™ NAA N/A- NAA 6" NAA 6" -N/A 127~ 2 | e NAA & T NA /A NA N/A /A 2 (ToF} i
- 1 e 5" N/A N/A 6" 5 1/2" 6" 5" N/A N/A 6™ 8" - 6" N/A N/A N/A N/A 2 (BOTTOM) 1
6" N/A N/A N/A 4" N/A 6" N/A N/A N/A 6" N/A 5" N/A N/A N/A N/A N/A & (T0P)
+62.0, -73.3] " NA N/A /A 4 N/A 6" NA 8" N/A 6" N/A 5" NA N/A N/A N/A N/A 6 (B0TTOM)  {9'-0" TO 10°-0"
6" N NAA NA 5" N/A 6" NA 8" NAA 5 172" N/A 4" N/A /A N/A N/A N/A 7 (TOP/BOTIOM}
NA N/A N/A N/A N/A NA 6" 6" 12" 12" 6" 6" 6" 6" N/A /A N/A N/A 8 (T0F/BOTTOM) | *
1 (BOTTOM)
N/A N/A N/A N/A N/A N/A N/A N/A 12" 12" N/A N/A N/A N/A N/A N/A N/A N/A y (;,gp%g;r o)
ANCHORS LEGEND
" REOUCE ANCHOR SPAGHG. BY MULTILYING SPAC. S o secens Gy i T 2 12 ANCHOR TYPE éﬁ?ﬁﬁ@
{NOTE: Min. E, D. FOR CALK—IN ANCHURS IS 2 1/2")
FOR THIS OPERATION TO BE POSIBLE, REDUCED SPACING OBTAINED USING -FACTOR SHALL NOT BE REGULAR TAPCON, 410 5.5, TAPCON, CRETE-FLEX $54, 30"

LESS THAN MINIMUM SPACING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND.

ZAMAC NAILING, CF TAP—GRIFP, PANELMATE OR PANELMATE PLUS,

ST

FACTOR CALK=IN mgammw,“ 2.5”
ACTUAL & D. | REGULAR TAPCON, 410 S.5. TAPCON, CRETE—FLEX $54, o
ZAMAC NAILING, PANELMATE OR PANELMATE PLUS. CALK~IN  |SOLID~SET [CF TAP-GRIP 50”‘7‘5”\‘“ \\,‘H 7 /o" / ’b‘ 3.5"
= RIINRY
3 .86 .75 .78 1.00 §- \,\CEWS@ . ,,% %,
2 1/2" .71 .50 - 80 %
2" .50 - - -

LORION -

v
. .
et

NAL o \\*

E D

= FDGE DISTANCE

PRODUCT REVISED
as complying with the Florida

Building Cade
Acceptance NoJ Z
Expiration Date o0&,

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

. L.G.LAG,
0.050" BERTHA ALUMINUM STORM PANEL DRAWN BY:
11/15/11
ILIECO NG EASTERN METAL SUPPLY, INC. oute
- 4268 WESTROADS DR,
0555 L e Sk e 305 oA SDENS 140 WEST PALM BEAGH, FL 33407 11117
Phone : (mja A (305)671—1531 DRAWING No
EB—-00067 19 REV. HO DESCRIFION DAIE REV, Ho DESCRIPTION DATE
WALTLR 4 L’}'c":_“; o ; OLD 05-078 [11/15/71 : - — ¥ oweer 11 oF 1
T = = - =

'”’ﬂaaaenuaaa\\“‘




-

1/4" & LAG SCREWS

@ 6" 0 0 W1 1/2" Mn.
THREADED PENETRATION

TO EXISTING WOOD HEADER,

1/4" @ LAG SCREWS
@ 6" 0. C W/ 1 1/2" Min.
THREADED PENETRATION

SRS NSNS

WO0D HEADER,
REQUIRED

SEE SCHEDULE FOR
Min. SEPARATION
~ [0 GLASS

A

L

|
I
|
I
I
|
|
|
!
[

-0

250"
ox.

_

'-—@ Cont,

)
74

ALTERNATIVE 1

L

I
|
|
|
I

!

745~

-®

WING NUT
EVERY STUD @--

L~

n ‘ »

SONOSOSN NSNS

el
R\?{ED "

ALTERNATIVE 2

A
¥

1/47 8 LAG SCREWS

Max. PANEL LENGTH (SEE NOTES BELQO

/8" 8 x 3/32'

a.C

Cont,

670 C W/ 1 1/2"

SEE SCHEOULE FOR
Min. SEPARATION [—
10 GLAss ]

1/4"8-20 §.5.—
-BOLTS W/
T7/8% x 3732"
WING NUT

@ 12° 0. C.

= BN

2" % 4" PIAT

TEL}(ED P
[
\ -

SOSONNNNNINGD

ALTERNATIVE 3

6 ) Cont.

1/4" & LAG SCREWS
@670 ¢ Wi 1/2"
Min, THREADED PENETRATION
@ MIDWIDTH OF PLATE. -

Min. THREADED PENETRATION
@ MIDWIDTH OF PLATE,

I|m|||l% ||||l|.".‘. H— §

TO EXISTING WOOD HEADER.

0"
ax.

TSSO

WoOD HEADER
REQUIRED

SEE” SCHEDULE FOR
Min. SEPARATION
TO GLASS

Ay

144" 8 LAG SCREWS
@ 6”0 C W 1 1/2" Min.

)
-

Cont,

|
I
|
o
I
I
|

N

ALTERNATIVE 5

Woop " sTup
@ 24" 0. C
REQUIRED

TSNS N NSSSN

!
|
I
|
|
|
|

-

THREADED PENETRATION TC
EXISTING WOOD HEADER.

@ Cont,

1/4" 8-20 S, S. BOLTS @
12" 0. ¢. W/ NUT & WASHER

1"
“umin TS %
H 83
i_r—

—®

i
500"

S SIS SSNNY

Cont.

Max. PANEL LENGTH (SEE NOTES BELOW)

Lont, \1/4 %20 5.5,
- Is

z W/
L7/3"¢ x 3/32"
WING NUT
@ i2" o0 ¢

1/4" 8 LAG SCREWS
@6" 0 C W1 1/2"

Min. THREADED PENETRATION .

@ MIDWIDTH OF FLATE.

ALTERNATIVE 6

WO0D HEADER
REQUIRED

—O

SEE SCHEDULE FOR
[l—— Min. SEPARATION —|
TO GLASS

!
I
!
|
|
I
|
|
I
—A— |
i

iax. PANEL LENGTH (SEE NOTES BELOW)

A
¥

ALTERNATIVE 7

WALL MOUNTING INSTALLATIONS

NOTE FOR COMBINATION OF SECTIONS:

WALL MOUNTING SECTIONS CAN BE COMBINED
IN ANY WAY TO SUIT ANY INSTALLATION.

SECTIONS A
INS

SCALE @ 1/4" = 1°

TO +65.0,

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR AS.D DESIGN FRESSURE RATING UP T
—72.0 paf AND PANEL'S LENGTHS UP TQ 8'-0" EXCEPT AS NOTE

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBER.
PINE No 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

5 «e\‘gﬂ I}I._.T-é{/ %

S 10 BE SOUTHER:AZ ﬁ

mmmmwm,;ﬁ

—_

433" 0, D, x 634" LONG BRASS
BUSHING W/ 1/4" 6-20 x

25 5 5 M 5. @ 12" 0.
FOR SPANS UP TO 5'~9" AND

. @ 6”0, C. FOR SPANS UP

70 9’ G" Max. OR 1/4"
p—20 ELCO ma.fe/fema.fe
PANELMATE ® 12" 0. C W/
1 7/8" Min, PENETRATION
FOR SPAN UP TO 9'-0"

AR

NN

WOOD HEADER
REQUIRED

SEE SCHEDULE §.

FOR Min.
SEPARATION
To GLASS

—

|
|
|
I
|
I
I
I
I
|
I

|

-

Max. FANEL LENGTH (SEE NOTES BELOW)

|
|
:-—O
|
l

i

S S SOS S SNN

-WoOD
PLATE
REQUIRED

-

M @ MIDWIDTH OF PLATE

\— 433".0, D, x 634" LONG BRASS

BUSHING w,/ 1/4" 9-20 x

2" 8, S M5 @ 12' a C
FOR SPANS UP TO 5'-g"

AND @ 6" 0. C. FOR .S'PANS up
TO 8'-0" Mox. OR 174"

#-20 ELCQ muale/female
PANELMATE & 12" 0. C. W,

1 778" Min. PENETMTION

FOR SPANS UP TO 8'-0"

ALTERNATIVE 8

TALLATION DETAILS ON EXISTING WOOD BUILDINGS

PRODUCT REVISED

as complying with the Florida
Building Code

Acceptance No t % ~0229
Expirztion Date & 1 oo/gé ’
B}f .

Miami D roduct Control

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

L.G./AG

0.050” BERTHA ALUMINUM STORM PANEL oA

%I/ ILlECO - \

EB-QOQE719

FLORIDA Lic. § 44167

J TILLIT TESTING & ENGINEERING COMPANY
L 46355 ww Jotn, St, Ste. 303, VIROINIA GARDENS, A, 33185

4268 WESTROADS DR,
WEST PALM BEACH, FL 33407

11/15/11

EASTERN METAL SUPPLY, INC, DATE

T—=117

. -{(ZORIUI’.‘.-,'.'\?/Q & Phana : (305J871~1830 . Fax : (305)871=1531

PESCRIFTION BATE

e N E DRAWING No

WALTER A TILLI Jr. P. E.

3 - -

OLD 05-078 H1/15/1]]

- - - SHEET 12 OF 15

T




WOOD TRUSSES. OR RAFTER

@ 24" 0. €. REQUIRED
WOOD TRUSSES OR RAFTER )
@ 24" 0. O, REQUIRED - X

13 - ==

- 4 —

Alum, TUBE W/

Sog" B-EQ—B-E0—=s0p"
N - 3 7777 AN T AT AN 7 7 77
7 = e — 1" 4" 178"
TN T A T N T 777 o i g
.S,
@ [0}

T———— 1"k 4" X 18"
Min. (6063-T5)
Alum. TUBE W/
(3} 5/16" @ x 4"

4T

(3) 5/16" 8 x 4"
LAG SCREWS TO
EACH JOIST.

0 ) LOCATE SCREW
il ! 46 ‘Screws To
£ 14534 —(4) FACH JoiST AT MIDWIDTH OF
@ 6" 0. C | Cont, LOCATE SCREW SEE SCHEDULE FOR EXISTING WOOD
' | AT MIDWIDTH OF Min,_ SEPARATION MEMBER (2" Min.
-t EXISTING WOOD 70 6LASS NOMINAL WIDTH)
| 1 MEMBER (2" Min. %EADL./DE’ Min.
SEE SCHEDULE FOR 1 NOMINAL WIDTH) L. PENETRATION.
A "o, seomganon - | WS 2 127 Min, :
__TQ GLASS THREADED
iy LTERNATIVE 94 PENETRATION ALTERNATIVE 10
, \ I
A o _ o
i Y oty
I B ¥ Ve | - b dipeeezo ss
WG NUT @ | MRENT e\ 2" x 6" 6 l 7/8' x 3/32"
EVERY STUD ) | | 2xs” - & WOOD DECK o WING NUT
@ 12" 0 ¢C WooD DECK - REQUIRED 4 [‘@ o @ 12" 0. C.
@ | REQUIRED (NO_FINISH WAL T |
(N FINISH N Arzowen) oL ]
~Gont. L4 | |- Acowep) f _ &
!3 i Cont, ] f or
s 2l T
~ j- — W 1N
- : - ‘ 1/4" @ LAG
) A 4 il Screws @ 67 0. ¢ wy
A—— \j : S et AN N W 3 " sin. tHREADED
- 4 ! ealeol , A2 L L AN} PENETRATION @ MIDWIDTH
e " ,, 1 oF PLATE,
1/4% LAG SCREWS I/470 LAG SCREWS 4
@ 4" oc. W/ 1 1/2 Min @ 4" oe. W1 1/2 Min. [/
THREADED PENETRATION. THREADED PENETRATION,

ALTERNATIVE 9

ALTERNATIVE 11

CEILING & FLOOR MOUNTING INSTALLATIONS

SCALE ¢ /4" = 17

NOTE FOR COMBINATION OF SECTIONS:

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. |

ALTERNATIVE 12

* VALID FOR Max. A.5.D. PRESSURE

RATING OF +63.5, —63.5 psf.

-

| O
|

el

g 11

o
~

2
/()/
‘ ,\—@ Cont,

T Ne14" 2 0

” "

LATER
R\i\ UIRED o

ALTERNATIVE 14

OF PLATE.

S N

WALL MOUNTING INSTALLATION

SCALE : 1/4" = 1"

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR A.S.D. DESIGN PRESSURE RATING UP
TO +85.0 ~72.0 psf AND PANEL'S LENGTHS UP TO 9'-0" EXCEPT AS NOTED.

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No, 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

% G LR, §
A, Sy A
7, STONAL ER7

Frn L

PRODUCT REVISED

[ 7/8" & x 3/32"
T sy

| EVERY STUD @

' iz 0. ¢

I

SCREWS © 6" 0. C. W/
1 1/2" Min. THREADED
PENETRATION & MIDWIBTH

as complying with the Florida

Building Code

Acceptance No / 7

Expiration Date o
4

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

FLORIDA Lic. § 44167

1 1/15/11] 3 - -
= + - -

2 -

” L.G/AG.

i 0.050" BERTHA ALUMINUM STORM PANEL DRAI;.; ar:
. i 11/15/11
ILIECO \nc EASTERN METAL SUPPLY, INC. oute

4268 WESTROADS DR,
MPANY
Ry Al s N e T WEST PALM BEACH, FL 33407 11-117
Phona : (305}871~1530 . Fax : (305)871— 1831 DRAWING No
EB~D006719 REV. NO DESCRIFTION DATE REV. No DESCRIPTION DATE
WALTER A, TILLIT Jr. P. E. - T oe-o78

SHEET 13 OF 15

Hrr




@ 4" g0 W
| THREADED PENETRATION

S

L 4" x 8" (Min.) EXISTING
WOOD BEAM REQUIRED.
STRUCTURAL ADEQUACY
OF, EXISTING WOOD

BEAM TO BE CERTIFIED
BY REGISTERED ENGINEER
OR ARCHITECT PRIOR

7O SHUTTER INSTALLATION.

1 1/2" Min
Conl.

/]
1/4" S.S. LAG SCREW —f- W]%'é
Q32

N

SEE SCHEDULE FOR
Min. SEPARATION I—-
TO GLASS

Al

ALTERNATIVE 15

Moax. PANEL LENGTH (SEE NOTES BELOW)

2" x 6]
Woor DECK
REQUIRED
(NO FINISH
ALLOWED)

I
7/8"8 x 3/32" |
WING NUT © :
EVERY. STUD | | D
@ 1270, C. |
ALTERNATE LEG_ Cont gl L F
LOCATION |
| £ it
—
27
_ Min_
L 1/4% 5.5, LAG SCREW j
@ 4 1/2" o.c. W/ 1 1/2” Min.
THREADED PENETRATION

ALTERNATIVE 16 *

CEILING & FLOOR

MOUNTING INSTALLATIONS

SCALE : 174" = 1"

1 7/8" Min. 2° EXISTING 1/4°0x8” ELCO male
PENETRATION_\ I—Max_.“ /‘ BRICK VEENER |~ PANELMATE TVAS ANCHORS " R
4 b 6 1/2°0C W1 12" k - 1 LaG h —r
\ \ \\\ \ \n - Min, THREADED PENETRATION 11 T f&;ﬁg‘g o 60.C W 7 3 e
INTO WOOD HEADER. d S| PeNemRaTION TO ExISTING 9 - SCREWS © 6" 0. C. W/
\ L .| wooD HEADER. L/ , 1 1,/2" Min. THREADED
|/ ; % - PENETRATION TO EXISTING
- 9 . - 1. WOOD HEADER.
% =Q 3 ; h 7 [ E / ng
ol M : B8 y : B L/
T = ] = =1 —L§ ]
- L g %
| qil /] IS : | I / .§ |
WooD |,/ 4 % A
HEADER | | [/ 83 : —(2) cont. [/ R | Cont.
REQUIRED | St . | O | |
§ gryc:= N S O
£xsvG - l S - |
STEEL ANGLE LINTEL -
3 APPLICAELE | woop weAoeR] | 8 wooo HEAvER| | () <
1 | REQUIRED i ,_® i@ REQUIRED | a3
@ "]
[ | f 2 _Vser scHEDULE | &
| : SEE SCHEDULE '} 1 For min.
| See_ScHeDuLE | i oG HEDL | i separaTion [T %
SEPARATION . Y SEPARATION &~ | 2 O GUSS || ~8-
It 70 GLASS | 9 T0 GLASS x - A ™
I | % i 3 ~I- o ]
E _ DETAIL 2/15
I | A\ll 4\\'/ l g e Av | m EXISTING gV. ] E %
T 4 XISTIN :
i| : o . o A'l 90 3 ol L } (D) g
g : [ry]
>
I ; g W | . g g
5 Exste—" 1. ~1/4%8-20 5.5. T | o
i = A3 | OLTS W/ 1/4°8-20 S.5.
S 7/8% x 3/32" | goLts Wy §
f Iy ] 6 | WING NUT | "
Z . cont @ 12" 0 ¢
EXISTING | & 7 Fl;l—l ™ _ |
7 T \ BRICK SILL. | ]—® & /4 Pl i _ _
Woop —-1-] K L = 8! B ~ N1 T | / _—[L_q _— - B
peare L] Ik | : e = L P L R, SuA1 S
1 | il AT s 1 F -
8" EXISTING | 1—/ ! \ . ’ G; T i }:375.
- N ’ 7~ FLASHING AS 1 o M e tAG : 2 A‘ T
178 min o LY APPLICABLE | Adb SCREWS @ 6% 0. . W/ TTA ' \_ . " ag
PENETRATION . V1.0 “Hi- 1 1,/2" Min, THREADED W4 e x 3 1A
‘ A | AN 2"t e | PenETRATION © MIDWIDTH % : i} Screws @76 0. ¢ w/
L quiked, fHlE  GENE T | 1 27/32" Min. PENETRATION
- 7/ 7 | d \ . L/ & MIDWIDTH OF PLATE.
. 3.500" I /] \ - 4 m INTERIORLY REMovABLE PANEL(T) W/
-] : i ' % SIDEWALK BOLTS (SEE DETAIL 2)
. {XFSTWG-/ / ] _ CONNECTED TO (1) THRU 5/8"¢
oo e gy S ALTERNATIVE 184 » - e D 4,05 8 e
EXISTING Min. 1/2" PLYWOOD EXISTING ALTERNATIV 88 @ EVERY SIDEWALK BOLT.
D (TYP RICK SH.L . . *
1/4'0x8" ELCO male PANELMATE | 15 "STUQSY ) Ag”:ogéSTEMNG ’Eﬁmﬂ;f" x ;,,/ 4 ALTERNATIVE 186
TVAS ANCHORS @ 4 1/2" O.C. T0  SECTION 2909 OF THE 352 wfva{vu?
EXISTING PLYWOOD SOUTH FL. BUILDING CODE. 312 0 PRODUCT REVISED WALL MOUNTING INSTALLATIONS
Al IEEM! Tﬂﬂﬂ 17 * as complying with the Flosida :
- Building Code % VALID FOR Moax. AS.D. DESIGN PRESSURE

* VALID FOR Max. A.S.D. DESIGN PRESSURE
RATING +63.5, —~63.5 psf.

NOTE FOR_COMBINATION OF SECTIONS:

WALL /FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALIATION. |

I

—~QUT _[NS

SCALE ; 1/4" =

LATIO

7

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR A.S.D. DESIGN FRESSURE RATING UP
7O +65.0 —65.0 psf AND PANEL'S LENGTHS UP TO 9'-0" EXCEPT AS NOTED.

2. FOR_NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

e oL oot 06
' INSTALLATIONS VALID FOR PANELS (1) USED JOINTLY
WITH INTERIORLY REMOVABLE PANELS (1)

aduct Control

SCALE : 1/4" = 1"

RATING +63.5, —63.5 psf.

INSTALLATION DETAILS ON_EXISTING WOOD BUILDINGS

........

wh
S

N
- S -
]
-w . - 1:.\:‘%‘
-\\P‘\a
aaeed

g% 12, iy
".ﬁ‘p ‘,%.'_ STAT OF ,'.Q., .‘:::
20 & §

<

() ifd;

b o -
A LoRioh
’ <<\ T " %

"’*’%ﬁ‘% AL P

A%

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

” L.G/AB.
: 0.050" BERTHA ALUMINUM STORM PANEL DRAWN 8Y:
11/15/11
ILIEC O .- EASTERN METAL SUPPLY, INC. | "ok
4268 WESTROADS DR.
GINEERING COMPANY
g‘;’-{{w f,if,}fo%;;? ’ g“-'g’g" jfgmfﬁt ,‘?’;‘5%*;’?’,5' . g,"“,'“ WEST PALM BEACH, FL 33407 11—117
Phaorre : - . Fox ¢ - -
5 Eﬁ“%?&%f fjg P £ REV. NO DESCRTION ATE | REV. Ho DESCRIPTION AT DRAWING No
WEGROA Lo g alsr" n op 08076 PLTL. S - SHEET 14 OF 15

IO




1/4"F 5.5. LAG SCREW —

-

4" x 8" (Min.) EXISTING

1/4" S.5,

s

/ /MG/SCREW - /4’8 5'.5'./ LAG SCREW
1 O A RoC 2 M. — - ALTERNATIVELY, TRACK @ MAY BE ATTACHED / - @ 4 Do Wyt 12 MNT
THREADED PENETRATION TO HMOLLOW CEILING AS PER DETAILS SHOWN ] THREADED PENETRATION

£ WOOD BEAM- REQUIRED.
STRUCTURAL ADEQUACY
OF EXISTING WOOD

BEAM TO BE CERTIFIED

)L ON ALTERNATIVE 9A, SHEET 13 OF 15,
£ ;

1/4°8 S.S. LAG SCREW—]

B

e 4" x B” (Min.) EXISTING
5 WOOD BEAM REQUIRED.
STRUCTURAL ADEQUACY
OF EXISTING WOOD
BEAM TO BE CERTIFIED

. ; EGISTERED ‘ENGINEER A BY REGISTERED ENGINEER
@ 4" o.c. W/T 1/2" MIN. o e &Y R & @ 4" oc. WSt 1/2" MIN
OR ARCHITECT PRIOR ] : g £o-F-£ OR ARCHITECT PRIOR ,
THREADED PENETRATION / 70 SHUTTER INsTALLATIoN. ( + ) / . THREADED PENETRATION / 70 SHuTTER sTaLLATION. (- )
iy
by N i
fo t | i<
-+ | —+- | | - | , -t
. | —® <
| \ Cont. % I % Cont. ] | v Cont. %
| i | g | F g 4
=
I U) | | )
_/q_SEl-.;_ ggHLi%ILE_P : § s /1 SEEFbS‘}g‘H&%JLE | g Y | g s s—/ SEEFbS‘gHAi%/LE_h Bl
EXISING=" ¥ SEPARATION . : ™ serARATION- : w EXisIvG SEE_SCHEDULE = GLASS " SEPARATION 0
1SS 0 GLASS | i B T0 GLASS | 8 143S L O Min | LD 4 TO GLASS I
s ~% =
| A | p—L | 70 GLASS | -
& B it ke
' 92 - DETAIL 2 l_’V—]'— % | E -_4,__1_... \Eﬂl
g * E *
- ] Al 4 ~ A Lo 11 3 §]__ t @ 3
. d ] P - ’_N_I_____ ﬁ 14
T % - : 3 (N g
__@ . % | -—@ , — DETAIL 2 ]
| g £ 3 3
| = | =2 | &
» “ —7/8" @ x 3/32" | A—-7/8"a x 3/32” V A28 0 x 3/32” %
! %ﬁs i'tfr {0(32 HING NUT @ WING NUT @ WING NUT @
EVERY STUD EVERY STUD EVERY. STUD gvsg %Tug
v @ 12" 0. C e 12”0 C Cont. "o C
@ 12" 0. C cont, |
ALTERNATE I 2% \ |
LEG -LOCATION % \
1t o 1
e b » “r> o " :>
—~—— {7t Sorci L koo Speck ff;cfo gscx w" ’ESA;ECK T
e - (1#]
\ REGUIRED REQUIRED "= | REQUIRED REQUIRED -
] _
/ / L wieworer revovsie paner Ow/ / INTERIORLY RE*;%EAT?LES@N%&%% / Z 1/4" -LAG SCREWS @ 2" o.c.
1/4'0  LAG SCREWS ® 4” 0.6l 1/4'e LAG SCREWS ® 2” a.c. SIDEWALK BOLTS (SEE DETAL 2) " _ . conmEeTED 70 (3 TG 80 W/1 1/2" MIN. THREADED PENETRATION
W/1 1/2° MIN. THREADED PENETRATION W/1 1,/2" MIN. THREADED PENETRATION CONNECTED TON) THRU 5/5' 1/4" LAG SCREWS © 4 1/2" o f
HOLES AT (1) @ & 0;/0 & FASTENED W/1 1/2" MIN. THREADED PENETRATION ﬁng;grw 7%% gﬁ; mvsorfxgg
AT REAR W7 7/8"x3/32" WING NUT X

ALTERNATIVE 194

SECTIONS 19

SCALE : 1/4" = 1"

1/4°=-20x1" 5.5. SIDEWALK BOLTS,
W/3/4" SLOTTED HEAD, FIXED O
INTERICRLY REMOVABLE PANEL

THRU KEY HOLE (2) @ 6" 0.0
W/1/4"-20 NUT AT REAR.

7/8" @ x 3/32" , REMOVABLE
WING NUT & PANEL
8 8" 0 ¢ _B’\ | [

N T I |
e B 7o e g g R | |
3 a 9
729 -— = i
%‘ | l — _:ui N l I
| = | |

7 g | |

875t — L
“
I | 12) HoLE @ 5™ o.c.

@ EVERY SIDEWALK BOLT.

ALTERNATIVE 198 ALTERNATIVE 204 ALTERNATIVE 208

NOTE FOR COMBINATION OF SECTIONS:

FLOOR/CEILING MOUNTING SECTIONS CAN BE ]
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

® EVERY SIDEWALK BOLT.

CEILING & FLOOR MOUNTING INSTALLATIONS .

Wy 1 B,
w4 PRODUCT REVISED & \SKRA 7/64;%
SCALE : 1/4" = 1" as complying with the Florida SR RN IR
Blllldmg Code = K \,\G E /US é\ L
-~

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR A.S.D, DESIGN PRESSURE RATING UP
TO +65.0 ~65.0 psf AND PANEL'S LENGTHS UP TO 9'-0"

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR FQUAL.

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

0.050" BERTHA ALUMINUM STORM PANEL eBAAG

/ IILIECO INC. \ EASTERN METAL SUPPLY, INC. e

TILLIT TESTING & ENGINEERING COMPANY WEST PHLM BiACH, L 33407 11—117

6355 N.W. 36th, St, Sts, 305, VIRGINI GARDENS, Fi. J3166
Phona : (I05)871~1538 . Fax : (305)871—1631

EB-0006719 REV. No DESCRIFTION d7E | mav. No BESCRIPTION 3

DRAWING No

WALTER A. TILLIT Jr. P, E = -
f CLD 05-078 W11/15/11 3
FLORIDA Lic, # 44167 - : - —

2 -

SHEET 15 QF 15




